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A3/M34 25EOM
A4/M4 5 24PD
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A7 21Ana Out
A8 20Ana In
A9 10 19AGC
Aux 11 18Mic Ref
VSSO2 17 Mic
VSSAL3 16VCCA
SP+ 14 15SP-

11 AUX IN

12,13  |VSSD VSSA

14,15  |SP+ SP-

16,28 |VCCA VvCCD

17,18  |[MIC MIC REF

19 AGC

20,21  |[ANAIN OUT

22 OVF\
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24 PD

25 EOM\

26 XCLK

27 P/R\ /
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A2/M2
A3/M3 0
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1 0
0
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2500 600 / ( 300 )
AO~A9
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2500 0~599 ( ) 600~767
768~1023
()
A9 | AB | A7 | A6 | A5 | A4 | A3 | A2 | A1 | AO | 2560 2575 2590
0 0 0 0 0 0 0 0 0 0 0 0 0 0
50 0 0 0 0 1 1 0 0 1 0 5.0 6.25 7.50
100 0 0 0 1 1 0 0 1 0 0 10.0 12.50 15.00
250 0 0 1 1 1 1 1 0 1 0 25.0 31.25 37.50
300 0 1 0 0 1 0 1 1 0 0 30.0 37.50 45.00
400 0 1 1 0 0 1 0 0 0 0 40.0 50.00 60.00
500 0 1 1 1 1 1] O 1 0 0 50.0 62.50 75.00
599 1 0 0 1 0 1 0 1 1 1 59.9 74.87 89.85
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